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Q.No: 1
2427534

Professional
examination
board

How many times has India organized the Asian Games so far?

URA A bl IR 3@ do TREE Qal o s &t 82

One

Two

Three

Four

TR

Correct Ans : B

Subject : General Knowledge

Q.No: 2
2427573

View Report View QP View Candidate Responce View Candidate Question

Testdate
TestSlot

Select the incorrect statement about SAARC (South Asian Association for Regional Cooperation)-

b (i uRkerg &eit wgai 9u) & aR H Tad $UF B 98T B -
It was founded on 8 December 1985

TS RITTT 8 fewaR 1985 B g5 A

Its secretariat is based in Kathmandu, Nepal.

TP WAy FTeulg, Jurd § R B

Maldives is not a member of SAARC

TS il B GG el &

Sri Lanka is a member of SAARC

HiciepT Tl BT GGH &

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2427976

Select the correct statement regarding Partition of Bengal.

I faUTeF & ey & gt $UF $T 994 DR

Viceroy Curzon partitioned Bengal in 1906

AFER Boi 7 1906 H T BT v fasar

Bengal was the second largest province of British India before partition

v 3 vgd sma fafesr HRE BT EHRT e 997 wid o

The British gave “administrative convenience” as a reason for partition

SN 7 fyuSH & FRU F F9 F wRIaE g &

Congress didn't oppose much of the partition

MPPEB 2022

PCRT-Reports



P A faurer o1 e fadty =Y feam
Correct Ans : C

Subject : General Knowledge

Q.No: 4 According to a report released by UK's Department of International Trade, India could become the largest importer of the world by 2050.
2428900
{51271 & SfeRTP MR faum gRT S U RAIE & S8R, YR 2050 @ g &1 T TIT AHRIAH & Al B
second
A
o
third
B
de
first
C
ugan
fifth
D
ari

Correct Ans : B

Subject : General Knowledge

Q.No: 5 Which of the following statement is not correct about Shooting World Cup-2021?

2430534

X Ry $9-2021 F SR F A9 d S W T TG T 82

Shooting World Cup-2021 was held in India (New Delhi).
A

feT Ry $9-2021 F1 SmieF HRA(TE Rwdh) & gan

India won a total of 15 gold medals in the Shooting World Cup-2021.
B

3fén fay $9-2021 & YRd A & 15 W0l e W]

India topped the Shooting World Cup-2021 with a total of 30 medals.
Cc

e fay $9-2021 ¥ YR $& 30 Yol F Y Y R 38|

In the Shooting World Cup-2021, China finished second with a total of 8 medals.
D

R[feT fay $9-2021 & 99 T 8 USH! F WY G WIF W 7|
Correct Ans : D

Subject : General Knowledge

Q.No: 6  In which of the following years, the Nehru Report was published?

2433597
PraferRd & ¥ v ad Jgw Raié i g @
1932
A
1932
1928
B
1928
1936
C
1936
1924
D
1924

Correct Ans : B

Subject : General Knowledge



Q.No: 7 When was the Banking Regulation Act passed?

2435780

e fatrarm st oe wikd faar w2

1935
A

1935

1945
B

1945

1949
c

1949

1955
D

1955

Correct Ans : C

Subject : General Knowledge

Q.No: 8  Which Indian state shares maximum boundary area with China?

2437350
P T URAT T D7 S T A i &7 = R 82
Jammu & Kashmir
A
w1 3R HRR
Himachal Pradesh
B
[ERRER
Uttarakhand
Cc
WS
Arunachal Pradesh
D

ST W™
Correct Ans : A

Subject : General Knowledge

Q.No: 9 Chaitraul festival is celebrated in which state?

2440795
e iER e Iea & T S 82
Uttarakhand
A
IRES
Himachal Pradesh
B
T T
Gujrat
Cc
ORI
Madhya Pradesh
D

Y W™

Correct Ans : B

Subject : General Knowledge

Q.No: 10 It has been declared that the Khajrana Ganesh Temple will soon be powered by solar energy. Where is the temple located?
2440997

g DY faan man § o wern o TR oo €t 9R St § e S AR @l fd §2



A Indore

@R

Bhopal

i

Ujjain

kicn

Dhar

Ry

Correct Ans : A

Subject : General Knowledge

Q.No: 11 The Tansen Sangeet Samaroh is celebrated every year in -

2441049
AR Wil FARTe wfded AT S -
Bhopal
A
ure
Gwalior
B
IR
Ujjain
C
EEn]
Jabalpur
D
SRR

Correct Ans : B

Subject : General Knowledge

Q.No: 12 \y 115 was the 237 Governor of the Reserve Bank of India?

2441281
HRA o S & 2398 TR 3 32
P C Bhattacharya
A
ot 3t wgrarf
S Jagannathan
B
TH SERA
Dr. Urjit R. Patel
C
3. 3fa SR wew
Dr. Raghuram Rajan
D

BT TR A
Correct Ans : D

Subject : General Knowledge

Q.No: 13 Which year Jagdish Sharan Verma was appointed as a judge of Madhya Pradesh High Court?
2441316

SR TR A B b af Hen o 9 e & et & w9 H fged fm mn are
1964

1964
B 1968



1968

1973
C

1973

1975
D

1975

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Bansagar dam is on the river

2441436
SUEIR &Y TR
Son (Sone)
A
ke
Narmada
B
e
Chambal
C
GEG)
Betwa
D
aar

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Bori Wildlife Sanctuary is situated in which of the following districts of Madhya Pradesh?
2441576

SR TOelig IR Heg UeR & e § § e e fRua 82

Hoshangabad
A

BRITETG

Thabua
B

g

Mandsaur
c

HEER

Shivpuri
D

fRragdt

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Jabalpur was chosen as the Principal Seat of High Court of Madhya Pradesh in which of the following years?
2441693

SR $1 Fefafed ¥ @ 5y of § e vew & 9= e @) ygy die & w9 # g wm ur

1947
A

1947

1956
B

1956

C 1961



1961
1976

1976
Correct Ans : B

Subject : General Knowledge

Q.No: 17 What is the Sanctioned Strength of Judges in the Madhya Pradesh High Court?
2441725

T YR I e § Areiit Bt Teligd i e 87

41
A

41

47
B

47

52
C

52

53
D

53

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Sex ratio of Madhya Pradesh according to census of 2011 -
2441769

2011 B STIVAT & IR HeH YW &1 fwrgard -

919
A

919

931
B

931

956
C

956

989
D

989

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The Rajpur tehsil town of Barwani provides market for the, farmers.
2441793
T IR AR e & R SR Suwe B 81
Ginger
A
3EH
Chili
B
o
Garlic
C
ol
Onion
D
oS

Correct Ans : B



Subject : General Knowledge

Q.No: 20 Jhumar folk dance is related to which of the following states?
2442372

R e T Froffaa § § frg o § wefia 2
Madhya Pradesh

A

AH W

Maharashtra
B

FERTE

Rajashthan
C

REic

Jharkhand
D

IRGS

Correct Ans : D

Subject : General Knowledge

Q.No: 21 DO stands for:

2422854
<l &1 Haew 3
Dissolved oxygen
A
foafea sifaeior
Deficient oxygen
B
SfiRiter Bt et
Diseased oxygen
C
AR SfRfeH
Detoxicating oxygen
D

feeTaitsfen i
Correct Ans : A

Subject : General Science

Q.No: 22 Which hormone controls the blood sugar level in the blood?
2423008

DI AT A I H 9 AD F TR B ARG D 82

Adrenaline
A
TR
Insulin
B
g
Testosterone
C
TR
Cortisol
D
P

Correct Ans : B

Subject : General Science

Q.No: 23 What are manufactured and distributed without any patent?
2423017



T 18T USe & 1 M SR [9aRd 1641 Sl g2

Herbal medicines

A
oIt 9 o
Vaccine
B
Gical
Generic medicines
(o}
SR gany
Vital medicines
D

Teaq any
Correct Ans : C

Subject : General Science

Q.No: 24 Symptoms of are person specific.
2423051
¥ T S Ry 87 §1

AIDS
A

RSt

Diabetes
B

AydE

Cancer
Cc

FW

Heart attack
D

Raerdm

Correct Ans : A

Subject : General Science

Q.No: 25 Solar radiation is measured by using which of the following devices?
2425752

TR fafd=or o B & F 5 SUTR BT ITGNT TS HIUT T 82

Barometer
A
ez
Anemometer
B
TR
Pyrometer
C
TR
Thermometer
D
YA

Correct Ans : C

Subject : General Science

Q.No: 26 Which one of the following does not come under the invertebrates?
2428730

Froffea § ¥ oF sedeo ¥ sfwla T o o2

ray



snail

dien

slug
C

wm

squid
D

fagw

Correct Ans : A

Subject : General Science

Q.No: 27 Choose the odd one out:

2428737
fawa 94
Earthworm
A
Fgam
Sandworm
B
eat
leech
C
Eica
Sea anemone
D

T TRHA
Correct Ans : D

Subject : General Science

Q.No: 28 Check the odd one out:

2428783
fwm it wifg @
Kingdom Monera are prokaryotes.
A
AR A MR B
methanogens
B
EiosiEe
thrive harsh conditions
C
FOR IR # T §
bacteria
D
Faife

Correct Ans : D

Subject : General Science

Q.No: 29 People living in the busy squares face problems like short breathing and other respiratory problems. Due to
2429027

oI At H Tg a1 ARl BT W A H dhai iR G @l 3T gl St gEenslt &1 QAT BT Usdl 81 39 BRUT

Soil pollution

REREAL

Land pollution

A T
C Water pollution



T I

Air pollution

arg wemor
Correct Ans : D

Subject : General Science

Q.No: 30 Which one of the following is not an example of a Rabi crop?

2429202

o & 3 3 W 3t vud 1 IaeR T §?

Gram
A

a

Cotton
B

U

Wheat
C

g

Peas
D

AR

Correct Ans : B

Subject : General Science

Q.No: 31 The skeleton of sponges is made up of-

2429857
el Pl beplel Rbg! &1 gl 3]
spongin
A
WA
Chitin
B
fafes
mucin
C
ARA
collagen
D
P

Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429868
Assertion : (A) Reena encountered an animal that was fish-like metamerically segmented and was a headless coelomate.

Reason: (R) the animal found was a species of subphylum cephalochordate.

P Pafafaa uy & <) oy § i 3 o B siffieym R R &) "SR F T A daa 591 T 31 31wt 37 S Sl 3 Wrayrigde S Bl § SR 3 e Reed 3 § vy 1 96 IWw
3if¥Be: (T) S 1 AT U T AR gl N TSl 3 ke AeRe wU § Wfed o1 SR U 1 RR a1 Figadie o1l
PHRO: (R) UM AT THAR TABIZeH AHalbiac 31 Th Tellfd ol

(R) is true but (A) is false.

(R) T § AP (A) T &1

(A) is true but (R) is false

(A) T & AT (R) T &
C (A) is false.



(A) Tod g1

(R) is the correct reason for (A)

(R) (A) % forq Tt ror &
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”.You have to examine these two statements carefully and se
2430044
Assertion(A):Antibiotics given to humans and animals are the same.

Reason(R):Pathogens of humans are the same from animals. So antibiotics are also the same.

P Fofafed gy § < FF € i @ 0@ 3 ey iR g B "SRU & wu H daa 5 T g1 et 3 A Sl @) aurigde 9ig SRt § R T e fawedt § 9 uy &1 9@ SW
YT (A) @ ST SR TG B ff I areft Tharifedm u SRt gt B

PR (R) : ATl F ATSFD ST § TAM B 1 O Tharaifeas +ff adt 81

Both A and R are true

A

AIRRIFN v

Both A and R are false
B

A IR R I o §

A is true but R is false.
C

A GG 3 A R 3 B

A is false but R is true.
D

A 3T € A R TT B
Correct Ans : C

Subject : General Science

Q.No: 34 is a natural protein fiber.
2430119
___ U Urplae WeH BER &
Silk
A
ki)
Polyester
B
iR
Ethene
Cc
Loc
pPVvC
D
Piciki)

Correct Ans : A

Subject : General Science

Q.No: 35 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430120
Assertion(A): A lot of plastic pollutes our environment.

Reason(R): Plastic sticks around in the environment for ages.

e Pofafed gy # < o7 § B @ e 9 ety iR R 3 "SRU" & FU H d9a 501 T §1 o1udt $ S S o) ayrigde oig St § o T e et 7 I uy o1 96t SW
BT (A) @ IR IR WS TR TRl B Ui oHxar g1
FRU (R) : wiited qafazer & gt-gril o faues s g1

Both A and R are true

ARREAITAE



B Both A and R are false

A 3R R 2 o §

A is true but R is false.
C

A T ¢ AfF R 30 B

A is false but R is true.
D

A 3T € AP R TA R
Correct Ans : A

Subject : General Science
Q.No: 36 Find the wrong term in the series?
2422595

8, 14, 26, 48, 98, 194, 386

el | TTed hH T Yl Ta?

8, 14, 26, 48, 98, 194, 386

14
A

14

386
B

386

194
C

194

48
D

48

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the wrong term in the series?
2422630

@ # T S Bl Tl T2

1
A

1

3
B

3

7
C

7

17
D

17

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424524

19

19



EUCRNEAC EEDE A S|

Dadabhai Naoroji

A
g Rish
Aurobindo Ghose
B
SRR oY
Bal Gangadhar Tilak
C
e TR foeires
Bipin Chandra Pal
D

ol <5 o
Correct Ans : A

Subject : General Reasoning

Q.No: 39 Find the number of triangles in the given figure.

L7

AN
AN

17

17
19

19
18

18
16

16
Correct Ans : A

Subject : General Reasoning

Q.No: 40 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426301
AZCX : BYDW :: HQJO : ?

I HER-THG FT T4 X Gl IR SHeR-UE U S UHR Fefdid § SR GO SHER-THg, Ted SH&R-99g ¥ Taftd g1

AZCX : BYDW :: HQIO : ?

GRFP
A

GRFP

IPKM
B

IPKM

IPKN
c

IPKN



GRJP
Correct Ans : C

Subject : General Reasoning

(22;‘“2%4‘:)11 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1t pumber?

3:35:4:?

30 TEAT /faweT @ wue HY S el gEa ¥ 3¢ yeR TERT § S gud der 9wl
& ¥ HEfed §

3:35::4:7?

80

80
70

70
60

60
50

50

Correct Ans : A

Subject : General Reasoning

Q.No: 42 In the given diagram, Circle represents the Students who like ice-cream, Rectangle represents the Students who like Chocolate and Square represents the Students who like C
2426611

How many Students like Chocolates and Chips both?

faw e ema #, 99 ST gHG S ard faenfiat @ ufafAfic ovar 8, o diede g S ard faeniiat o1 wffie wvar § ok @ g wig oA ard faenfidt o nfafRfida wwar 1

fara farendff =fedie ofR faca A wig a0 @2
1

6
Correct Ans : A

Subject : General Reasoning

Q.No: 43 Sandeep is the only Son to his father and his father is the father-in-law of Smita’s sister. Smita is Sahil’s niece. How is Sahil related to Sandeep?
2429581



TT 3 fOrdT T FHaan §F © SR IS fial R 31 959 & TR 3| e, wifea 31 ool 91 wifewr, O @ e veR waifi 32

Uncle
A

3l

Father
B

fr

Brother
c

uié

Grandfather
D

a1/

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Vini introduces Rohit as the son of the only brother of his father’s wife. How is Vini related to Rohit?
2429595

farlt 3 AT Y 20 e 3 Telt & ghalad ¥ F A F T F I b fa R, AR T HY wafaa B2

Cousin
A

PoH

Brother
B

uré

Son
C

™

Uncle
D

e

Correct Ans : A

Subject : General Reasoning

Q.No: 45  Which answer figure will complete the pattern in the question figure?

2433472
7%
HIA-H IR AFA TRE S & Yef o g wvft?
7%
%
A
.
Y




SENIRSS

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Identify the figure that completes the pattern.
2433518

I STHfA I UgTH B SN G BT QU B )

AV
\/
A
/3
=
>
<
7

Correct Ans : C



Subject : General Reasoning

Q.No: 47 Identify the class that best represents the Venn-diagram.

2435587
I T B TgAH I Sl 39-3(RE P T 3T Waffa Fear §
Types of shapes, Rectangle, Square
A
HR F UPR, 31T, T
Mammal, cow, bat
B
KU, T, ST
Couple, Married, women
C
gi7el, e, afgarg
Clock, time, second
D

w3, T, Ibs
Correct Ans : A

Subject : General Reasoning

Q.No: 48 Mr. Deshmukh starts from his school, travels a distance of 2 km southwards, and then travels a distance of 4 km towards east, then a distance of 3 km to his right, and then h
2438496 gast, In which direction is he from his school?

ot 3T U Td A Y B €, 2 ol <feior Y ok ann v €, MR ey g @ 9iR 4 Tt it gl qw wva €, R ara it oIk 3 el oY <&t vd §, 3R O g St s € oIk 4 e

South-east
A

ey

North-west
B

IwR-UEH

South
G

afgor

South- west
D

Sféor-ufdw
Correct Ans : A

Subject : General Reasoning

Q.No: 49  Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438853
TR FI-g H I dH 5 v % A Gafia ], U orem §1 faww 1 g
34:7
A
34:7
78:13
B
78:13

C 12:3



12:3
56:11

56:11
Correct Ans : B

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Pick the number-pair that is different from the rest.
2438921

Frofifed IR Jen-gml § ¥ fF g 56 THR tHunH § 9fR U6 g S § SR Y8T- T $1 999 Sifl

4:65
A

4:65

1:2
B

1:2

3:27
C

3:27

2:9
D

2:9

Correct Ans : C

Subject : General Reasoning

Q.No: 51  Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440188 If it rains heavily, there will be water logging

A. it rained heavily

B. it did not rain heavily

C. there was water logging

D. there was not water logging

R 78 uy F TET 2 IR I9F QIR FUA B HUFAT 1 HIHG TH T, ST6T Ued HUT BT A TR FUT 3, R & U A T F @1 FU A W B
SRR It wifer g€, o Sierorma g s

A, Ui TR g8

B. W IR e g

C. S HIG T

D. Siel STHTd gl AT

AC
A

AC

BA
B

BA

DA
C

DA

CcD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440253

The unemployment will be on rise if we don’t have vocational courses.

A. we don’t have vocational courses

B. we have vocational courses



C. The unemployment will be on rise

D. The unemployment is not increasing

R T Y F W1 F SR I 9 IR FUF 81 YT BT B T g9, 8T Ugd FYH B A R Y B, 9IR & Fy Aifhe T F 981 $UF J U B
I FAR UG AP UIGTHH g1 § Al SRISR §gii |

A. BHR UIY ST WeuhH T §

B. BN U GHIS UIGuhH §

C. SRISTRY st

D. R T 55 = 7
BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440420 The candidate should be either honest or hardworking

A. The candidate was honest

B. The candidate was not honest

C. The candidate was hard working

D. The candidate was not hard working

3T TQ yy F 81 FUA SR IS A1 TR FUA | FUA BT BT GH T, T Ugd FYA BT ad g HYF 9 §, SR € T A U @ 781 FF F 9E 8
IHIGIR A1 T SAFGR A1 gt g1 AfeT

A. IHIGER $AFER o1

B. IHIGER $AMGR e o

C. Irfigar Agdt a

D. Infigar gt et o
AB

AB
DA

DA
CA

CA
BD

BD
Correct Ans : B

Subject : General Reasoning
Q.No: 54 Select the related letters from the given alternatives.
2441961

WUS : DFH :: MKI : ?

Ru e fawedi § A Gefa reri 3 g



WUS : DFH :: MKI : ?

LJH
A

LJH

GEC
B

GEC

0Qs
C

0Qs

NPR
D

NPR

Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2441972

Karnataka : Yakshagana :: Assam : ?

I e o 707 B S T oG U Sl IRe Fal § of GERT T1e8 el Wek J Heiftd ¢l

FAled : & :: 3T : ?

Mohiniyattam

A
Afgftergn
Ghoomar
B
™
Bihu
C
fag
Gidda
D
forer

Correct Ans : C

Subject : General Reasoning

Q.No: 56  simplify: 369+ [146 - {27 +3(65+13
5422370 Pl [ { (65+13)}]

WA ST 369 =+ [146 - {27 =3(65 + 13)}]

473
A

473

476
B

476

289
C

289

-278
D

-278

Correct Ans : A

Subject : General Maths

Qimnlifer- S _T1A_ f197 _/RA_ 1A= v« I\



Q.No: 57 TEUETIITT LS tem vt ev = o

2422385
WA BIEG 58-[16- {12-(34-16+2x3)}]
30
A
30
35
B
35
44
(o}
44
40
D
40

Correct Ans : C

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.17000 for one year at the rate of 28% per annum, if the interest is compounded quarterly.

2423607
17000 9 BT 28% Ui a8 T X I & T P1 Tl AT F1q P, T =1 3RS 24 B
Rs.1324.3218

A
Rs.1324.3218
Rs.3214.3487

B
Rs.3214.3487
Rs.512.11221

c
Rs.512.11221
Rs.5283.53217

D

Rs.5283.53217
Correct Ans : D

Subject : General Maths

Q.No: 59 Yogesh borrowed a sum of Rs.89400 from a finance company to purchase a Bike. If the rate of interest is 8% per annum compounded annually, calculate the compound interes
2423622

A Y T T3P Tl & T T BTe~A9 HO- & 89400 T0 &1 AR IuR ot | af =t Bt &R 8% Ufal 7 anfifes wfora 8, o 39 Iwals 9 351 TR R SN T B 3 99 & &g HUR BT
Rs.3217.2376

A
Rs.3217.2376
Rs.23218.2528
B
Rs.23218.2528
Rs.0987.3211
C
Rs.0987.3211
Rs.4212.4776
D

Rs.4212.4776
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:
2428587
{7.89 x7-252.5+5+4.2x5-[44.8 +8-2.5+ (22.5-5.2 x 4)]}



B4 I

{7.89 x7-2525+5+42x%x5-[44.8 +8-2.5+ (22.5-5.2 x 4)]}

20.63
A

20.63

20.79
B

20.79

20.93
(o]

20.93

-20.93
D

-20.93

Correct Ans : C

Subject : General Maths

Q.No: 61 Out of three numbers, the first is twice the second and is half of the third. If the average of the three numbers is 56, then difference of the first and third number is?
2432572

A Semell & F ugd Tom gud Y g § R e Bt oneht R Al v el 1 siva 56 7, df ugeh o <t S T SiR w82

12
A

12

36
B

36

24
C

24

a8
D

ag

Correct Ans : D

Subject : General Maths

8;,'\'3‘26%23 36-M) =27 & 3 &+¥) =243 then x is equal to:

i 36-9 = 27 & 36+ = 243, T x IR 8-

o
A

o

2
B

2

4
(o}
D

8

Correct Ans : C

Subject : General Maths

%1%%7&33 [S(x+y +2)+ 4(x + 2)+ 3y]
Ifx? + y? + 22 = 2(yz + Xy — zx). then find the value of 8(x +2)




[S(x+y +2)+ 4(x + 2)+ 3y]

AR +y2+2=2yz+xy-2z) &, A PO 1AM A P

@|3

@3

o3

JE

b

Correct Ans : A

Subject : General Maths

Sasrrs ‘ x*+x?) o
3,1 L X
IEX tx=7%% , then find the value of x*-702x>+4
[ x* +3x2 _7
elogoxny N X ;
aﬁ X %Fﬁ x”—702x3+4$[]:ﬂ7fsﬂﬂﬁl
24.5
A
24.5
23.5
B
23.5
30
C
30
25.5
D
25.5

Correct Ans : A

Subject : General Maths

Q.No: 65

3435215 L the costprice of an article is - of its selling price, then the profit or loss percent is

afe; fovelt o 1 p - S fAh e 1 2 g, ll an 1 g v ©

33§ % profit



Correct Ans : B

Subject : General Maths

Q.No: 66 What will be the loss percentage, if bananas purchased 6 for Rs. 10 and Sold 4 for Rs. 6 ?

2435238
T 10 F 6 B R HA TR T 6 N 4 Tt &R ¥ 97 W e wfara &1 St 2
6%
A
6%
5%
B
5%
20%
c
20%
10%
D
10%

Correct Ans : D

Subject : General Maths

Q.No: 67 A person purchased a sofa set for Rs 3200. He spends Rs 100 on transportation and made a cover in Rs 700. Still he disliked it and sold the complete set in Rs 3500. What is t
2435298

% R A 3200 ¥9A H TH QT Y W SEA 100 I IRagT R 7d 5T 6k 700 T08 HaR R 317 1 R o S g7 ghie @Y emr ofk S @1 e 3500 F9d & 49 faan afa @1 e

A
25
=%% i
25
= % profit
2
B
8o,
=% dMH
2
=% loss
C
13
Zopgl
15 % loss
D

Correct Ans : A

Subject : General Maths

24'\1307:46786 This moming Ram bought 1 pound of cake. In order to eat with his family, he used 3 of a pound.

how much does he has leftin the refrigerator?



3T G A A 1TSS Bl e TG | 39 URAR & R dhe T & TG, S 2 U1 1 S walT
a1 ApoRex | fba b a1 32

1

4

A
1
3
B
3
3
3
C
3
1
D

3
Correct Ans : A

Subject : General Maths

Q.No: 69 One-sixth of the trees in a garden are neem trees. Half of the trees are Ashoka trees and the remaining are eucalyptus trees. If the number of neem trees is five, how many e
2437496

TF 91 &l F 9 & et Y TN UH-TEal URT §1 oY ga S F § IR A9 Y F F1 Al i & gelf 3 e 5 7, & 90 ¥ gHiowy F fBan ga 2

5
A

5

10
B

10

15
C

15

20
D

20

Correct Ans : B

Subject : General Maths

Q.No: 70  One-fourth of a balls in a box are red. Half of the balls are green and the remaining are blue balls. If the number of red balls be 10, how many blue balls are in box?
2437556

e ST B U A g ard 81 oneft 1 &8 ol et 1 i B ofe wrw S Bt <iem 10 §, & 39 ey A e Al 12 {2

20
A

20

15
B

15

10
Cc

10

12
D

12

Correct Ans : C

Subject : General Maths



Q.No: 71 If in a symbolic language ‘HARA’ is written ‘IBSB’ then ‘ARAH’ will be written in the same language as?
2422545

g et ibfae UTST # 'HARA' &1 'IBSB' foral WITE ot 'ARAH' &I It HTeT # foran e fores2

BSIB
A

BSIB

SBIB
B

SBIB

IBSB
C

IBSB

BSBI
D

BSBI

Correct Ans : D

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘PEN’ is written ‘NZO’ and ‘BARK’ is written ‘CTSL’ then *PRANK’ will be written in the same language as?
2422575

T fait Widsfad yeT & 'PEN' B 'NZO' foraT 9T § $iR 'BARK' @1 'SLIM' foRaT @I & df 'PRANK' &1 3t urwr 7 forar s foraf?

NZTOL
A

NZTOL

CSTZN
B

CSTZN

NSTOL
Cc

NSTOL

NTSLO
D

NTSLO

Correct Ans : C

Subject : Mental Ability

Q.No: 73 In a row, Samiya is 11% from left end and 17 from right end. Then find the total number of students in

2425593 .0 given row?
T U & Wt a8 B8R & 11 ofR g SR F 1741 31 & f v ufda A fenfidi @ pa wew @ A
25
A
25
24
B
24
27
c
27
26
D
26

Correct Ans : C

Subject : Mental Ability

Q.No: 74 In a certain code, 33946 is coded as PPOAL and 1987 is coded as ROSE. How is 94678 coded in that code?
2426511



TS [FIgd $IS T, 33946 B PPOAL & ¥U H 3R 1987 &I ROSE & ¥ ¥ HIISd 64T Ofdl 81 I HIS H 94678 B HY FHedx 16l Sl g2

ROSEP
A

ROSEP

OALES
B

OALES

POALE
C

POALE

OSEPL
D

OSEPL

Correct Ans : B

Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430255 gtatements. Indicate your answer.

Statements: The education system has progressed from the point of view of the number of colleges, most of them are ill equipped and have not achieved excellence in fair ec
Conclusions:
1. In future, we should provide good professors and equipment to these schools.

II. We need not open any more schools in the future.

ot wsit §, 3 B <) fwpd 1, 11 BT 3R 61 € SMUS! ST Sl TR IR A1 8, 4a & § AaR W I awdt & welld 19 o) amaest g faw 7w e & ol e g @t et T

F: e yoneht AedeTedt B Gen & T ¥ o 9t 8, I A e srmait wU ¥ guier § ok 39 Freer fien § S it g 31 81
ﬁﬁ)‘ﬁ:

1. ufasy & g8 39 Whal B oy MR SR JUSRU IUT= IR d1fgu|

11 g8 4w § ofR wpar 7l W =g

Only conclusion I follows

A
Faa e 1 sgeRw wRar§
Only conclusion II follows
B
Fad FpY 11 SFHR Bl §
Either I or II follows
C
1A 197 1T SR Heell 8
Neither I nor II follows
D

AA I R 11 TR0 B ¥
Correct Ans : A
Subject : Mental Ability

Q.No: 76 In a certain code language, ‘LSSOUL' is written as ‘"NOUKWH'. What is the code for ‘ENTITY' in that code language?

2434432
& T Fe uTT &, "LSSOUL’ 1 "NOUKWH’ & &4 1 forar S 71 It e 11 # ‘ENTITY’ & fore a1 @ 82
GHEVEV
A
GHEVEV
DHTDTC
B
DHTDTC
GIVEVU
c
GIVEVU

D JGSUsw



JGSUsSwW
Correct Ans : C

Subject : Mental Ability

%1[\1305:47678 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance ft
Statements:
I. All cycles are bikes.
II. All bikes are cars.
II1. All cars are trains.
Conclusions:

I. Some trains are cycles.

II. All cars are cycles.

19 few T vy F A Py RE Y ¥ e a1g 3 e 1 8iR 11 QU T ¥ suep! T Y Sl 1w e |, w3 e qudl § s dlia 8 81 o R 7 Y 6 a1 w1 e faw T @
FU:

1. 9 wsfea I 71

11. 9t 95% TR §

111 3l R 7 8

ey

1. 3% ¢ U 2

11 ft BR wEfha 8

Only conclusion I follows.

P Py 1 TR Sa B

Only conclusion II follows.

Fadq ey 11 SR HRe B

Both conclusions I and II follows.

3l s 1 3R 1T RT3 B

Either conclusion I or II follows.

1 &t e 17 11 SrgERY T B
Correct Ans : A
Subject : Mental Ability

Q.No: 78 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435528 gtatements.

Statements:1. All wheat are grain.
2. Some wheat are flour.
Conclusions:I. Some grain are flour.

I1. Some flour are wheat.

1 RRu 1T uy & $7 FU 3R I 918 I HY R U T2 ey ot 1w §, gife S I wia audl A i & wedt 81 @it e o2 oiR i Ruffia ¥ 6 Rr u e § fed, f
B

1. et g 3A B

2. $% g eI gl

frsp:

1. $T 3N 37T &1

1L B el 1 81

Only conclusion I follows

Faa ey I 9§

Only conclusion II follows

Faa ey 11 9 ¥
C Both I and II follow



M e 1 ok 11 T

Neither I nor II follows

1 e 1 7 & A Frepd 11
Correct Ans : C
Subject : Mental Ability

Q.No: 79 How many pieces are obtained by making two parallel cuts on a cube?

2438388
TS ¥ R & FAFIR He a  fha e ww g 82
2
A
2
3
B
3
a
c
a
5
D
5

Correct Ans : B
Subject : Mental Ability

2&'\‘3‘258501 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
SLLLI=P2E>R
Conclusions:
I.L>R
II.P >R

fAAfafed e &, F1 & alg ey G e

T 71T et & R W ey & 3edds w7 AT A9 5oo) & 79 A 39gad [d@med & a9+ H{|
Fue:

S<L<I=P2E>R

s

LL>R

IL.P>R

Only conclusion II is true

A
Fqa ey 11 T ¥
Only conclusion I is true
B
Faa Y 19T}
Either conclusion I or II is true
C
g o vad
Neither conclusion I nor II is true
D

ARSI IRAR I TTR
Correct Ans : A
Subject : Mental Ability

Q.No: 81
2438572



In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

P>M>Q>Z>N

Conclusions:

I.M>2Z

ILN<P

EATOad 93 &, FUet & arg vy Gu 7w §)

f&T T et & HTUR R Aoy &1 Feade ) AN 39 300/ & & F ST fadmed & ah+ H |
Y

P>M>Q>Z>N

foread:

LM>Z

ILN<P

Only Conclusion I follows

A
Faa ey 1 9 ¥
Only Conclusion II follows
B
Faw e I T §
Either Conclusion I or II follows
C
1 o e 197 11 S R
Neither Conclusion I nor II follows
D

TR 1 IRTH I TT Y
Correct Ans : B
Subject : Mental Ability

Q.No: 82

2438601 [N the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statement:

P2Q=R>S>T

Conclusions:

ILLP2T

I.T<Q

FrFAfafad 937 &, FUAT & arg Temy 6T 71U &)

fEU 9T ST & HUR R FFT & JeTT= S HT 39 Fecl & T F 59Gad faaed & 99 F
Fu:

P2Q=R>S>T

forsad:

LP=T

ILT<Q

Only conclusion I follows

Faa P 19T ®

Only conclusion II follows

Faq ey 11 9T ®

Either conclusion I or II follows

gafediTinsas

Neither conclusion I nor II follows

Taf eI iRT{IITTR
Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439087



Statements:

Some cards are rods.
No rod is a ball.
Conclusions:

I. All cards are balls.

II. No ball is card.

1 T TQ uy & § By a1 IEF vy & Fieey 19w 11 R U E 1 Ut R T $uF @Y I AT B, HA 81 98 W addl O i el 810 & aut Sl & SR IR U S0 SR S E |
U

FT PSS T

g s i 7 31

e

1. g+ &1S §fa 31

1L 7 S 1S 1

Conclusion I follows

e 1 SRR AT §

Conclusion II follows

Iy 11 SgWRu BRI

Neither conclusion I nor II follows

T Frsd 1 R T & 1T SIgRy SRl

Both conclusion I and II follow

i Frepef 1 IR 11 3R A §

Correct Ans : C

Subject : Mental Ability

Q.No: 84 Which one of the given responses would be a meaningful order of the following words?
2442683

1. Million

2. Ten

3. Thousand

4. One

5. Hundred

Frafafed faeed § & oF-u1 fawe 9= Qe gu e & afe Ha @1 i 82
1 il

2.q9

3. TR

4. 7%

5.9

1,2,4,3,5

1,2,4,3,5

1,5,3,2,4

1,5,3,2,4
4,2,3,5,1

4,2,3,51
4,2,5 3,1

4,2,53,1
Correct Ans : D

Subject : Mental Ability



Q.No: 85 A11@IIYS LIS IUNUWINY WUIUS a> PEI LICH UIUET 11 LIE Uituutiary.

2442720
1. Weather

N

. Weasand
3. Wealth
4. Weapon

5. Weekend

Frofafea weal o1 Tsea § 3y T o1 & oruR fafdu
1. Weather

2. Weasand

w

. Wealth
4. Weapon
5. Weekend

3,2,415

3,2,4,1,5
3,2,1,4,5

3,2,1,4,5
3,4,2,1,5

3,4,21,5
3,4,1,2,5

3,4,14,2,5
Correct Ans : C
Subject : Mental Ability

Q.No: 86 Anil can do a piece of work in 180 days. How much work can he do in 18 days?
2423687

S U B B 180 Al & TR FwHa1 71 a5 18 Al F fva1 o IR T 82

[SRE

O | =

wninN

2
5
Correct Ans : B

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 17?
2427636

Fofifaa 4 4 oF 17 3 Ry 32
A 345117



345117

294038
B

294038

2840281
C

2840281

2095852
D

2095852

Correct Ans : A

Subject : General Aptitude

Q.No: 88 The sum of the ages of five children born at the intervals of 3 years each, is 50 yrs. What is the age of the youngest child?
2431229

o anf & ofavra & o 5 Il BT 3MY T $a AN 50 qW g1 T TIC T B 3G T g

A
>3
c 3
-

Correct Ans : A

Subject : General Aptitude

Q.No: 89 In the given figure, AB divides «DAC in the ratio 1:3 and AB = DB. The value of x is:

2431350
A E
108°
o 8 c
& Pl H, AB, 2DAC FI 1:3 F U H fauiforg Hxclt § iR AB = DB ®1 x &1 AF §:
A E
108"
o B [
90°
A
90°
80°
B
80°
100°
C
100°
70°
D
70°

Correct Ans : A

Subject : General Aptitude

Q.No: 90 The distance between two cities is covered in 3 hours and 15 minute at a speed of 52 km/h. If the speed is increased to 65 km/h. how much time would be saved?
2435981

< R & g B g 52 w7 g 3t 7 A 3 9 @R 15 e # aaR 9 ol 81 3l fa &t 65 R/ det o s s 81 v g @9 o

42 minutes
A

42 fiFe

45 minutes
B

45 fiFre

(o] 39 minutes



39 e

40 minutes

40 fiFe

Correct Ans : C

Subject : General Aptitude

Q.No: 91 Hari takes 7.5 hours more than Manohar to travel from city A to city B whereas at double the speed he takes 5 hours less than Manohar to do the same. If the distance betwee
2436027

BR, AR B gaT B IR A Y AR B 0@ TE F=A § 7.5 Hel oifde Iam § o1a ag oot SR i & I val § df I A6 B HR H I8 TR § 5 Uel HH I0g 0 ¢ A WA SR IR

17.5
A
17.5
22
B
22
25
C
25
284
D
.Zi_i
7

Correct Ans : B

Subject : General Aptitude

Q.No: 92 Distance between two stations is 128 km. If two trains moving from station P and Q towards each other at same time meet after 2 hrs. If both train moving in same direction t
2436040

QAR M B g 128 M. I AR A TTRIP & Q V U W B NP TP € THY W = § ol 2 902 418 it §1 afE G 3 o & o A =l dt 16 w0e a1 e § o S ST Bt ®
30 km/h and 24 km/h

A
30 ff/der oiR 24 fwft/ger
36 km/h and 30 km/h

B
36 fHi/der 3R 30 et/ der
28 km/h and 30 km/h

c
28 {3/ er ok 30 fit/ger
36 km/h and 28 km/h

D

36 f¥il/der 3R 28 felt/ver
Correct Ans : D

Subject : General Aptitude

Q.No: 93 A can do a piece of work in 18 days. He worked for 12 days and B finished the remaining work in 8 days. In how many days B alone will complete the whole work?
2436094

A el w7 31 18 o F X WaaT §1 ST 12 o o foam SiR A B A 8 A H g fFam B oiFd R FH ) fovant o F qu % e 32

16 days
A

16 7

24 days
B

247

28 days
C

28 faa

29 days
D

29 &



Correct Ans : B

Subject : General Aptitude

Q.No: 94  The length of the longest pole that can be placed in a room 16m long, 8m wide and 11m high is :

2436139

16m TE, 8m WS R 11m A TR & a1 wad i aram Twa a1 o gl 82

20 m
A

20 m

21m
B

21m

19m
C

19m

18 m
D

18 m

Correct Ans : B

Subject : General Aptitude

Q.No: 95  The greatest number of four digits which is exactly divisible by 24, 36 and 54 is:

2436158
TR IHT Bt AT TSI T Wl 24, 36 R 54 F fepa faura B:
9924
A
9924
9990
B
9990
9960
C
9960
9936
D
9936

Correct Ans : D

Subject : General Aptitude

Q.No: 96 When a number is divided by 56, the remainder will be 29. If the same number is divided by 8, then the remainder will be -
2436170

foreft e &1 56 § W & W AW 29 ST 71 Ay I GEm St 8 F U fFar S, & AW -

6
A

6

7
B

7

5
Cc

5

3
D

3

Correct Ans : C

Subject : General Aptitude

Q.No: 97 The sum and difference of HCF and LCM of the two numbers are 592 and 518 respectively. Find both the numbers if the sum of these two numbers is 296.
2436979



< Temelt & 9.9.9. iR W.4.U. &I AT auT 3feR HHR: 592 3R 518 g1 I WA J1d PO, afe 37 <1 SRemsii &1 1t 296 g1

185, 111
A

185, 111

186, 144
B

186, 144

185, 121
C

185, 121

123, 345
D

123, 345

Correct Ans : A

Subject : General Aptitude

.No: 98
(22444431 Amit can do 50% of the job in 16 days, Binit can do%“ of the job in 24 days. ln how many

days can they do %‘3 of the job working together?

st FfT =7 F50% Wﬁlsﬁﬁﬁﬁwgﬁ?ﬁﬁsﬁm%iwﬁza At 7 2=
AT {1 T W FIH T G X A F 2 T A et AT e < A

24
A

24

28
B

28

27
C

27

42
D

42

Correct Ans : D

Subject : General Aptitude

Q.No: 99 Tyywo express trains 280 metersand 220 meters in length are running towards each otherin

2444483 parallel wacks one attherate 65 km hour and another at 35 km hour .In how many second
will they be clear of each other from themoment thev meet?
=1 g wnteat FedT Aariat #wsn 280 Sz adT 220 W12 ) TR wziEt
Faraf frsmatt & 2 € &) s afrat #=sn 65 Ffraz ar ssfefrazr g femr
Fre T=7 (3. F) AT TF TR AT MCEL T2
6
A
6
9
B
9
12
C
12
15
D
15

Correct Ans : D

Subject : General Aptitude



Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444666

5, 8, 15, 26, 50, 98, 194

FEx: vde el o § e Tad gen @ T ) Tad 9 91 30

5, 8, 15, 26, 50, 98, 194

15
A

15

26
B

26

50
C

50

98
D

98

Correct Ans : A

Subject : General Aptitude



